A £ 0l & AF & S

Al A

0238 20ilaF LBtelH HE23 0
FA SE22F0
Mo 2OD|EMBEY
Cel: D | ZME g X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MES I 62,817,197 62,648,628 168,569
= 55,847,433
[ 144,788
AltI 4,735,082
-l 2,089,8%4
=D ZdE2E 62,298,260 62,234,398 63,862
= 55,617,433
[ 38,975
AlH] 4,683,073
Tl 1,968,779
=D |zdg+s5A X 45,917,689 45,862,127 55,562
= 41,222,769
= 38,975
AlHI 3,196,988
-l 1,458,957
A=A 45,147,777 45,147,777 0
= 40,633,000
AlHI 3,160,344
Tl 1,354,433
301 LEtE N = 45,147,777 45,147,777 0
= 40,633,000
AlH] 3,160,344
Tl 1,354,433
01 ARIE2EHSFS(RRNEERTHE) 45,147,777 45,147,777 0
oLtk MASN
45,147,777 ,000& 45,147,777
= 40,633,000
Alt] 3,160,344
Tl 1,354,433
M= 35,543 35,543 0
308 AXIMSOIA 35,543 35,543
08 W20t etEx 35,543 35,543
Ouss: 35,543,000& 35,543
FRA=XHA 247,769 247,769 0
= 247,769
301 EtE N = 247,769 247,769 0
= 247,769
01 Al 2E A S(SREXME) 247,769 247,769 0
O=a2X FR24= N (HHUH= X&)
247,769,000 247,769
= 247,769
SHAE SO 370,000 370,000 0
= 333,000




SN MESI
Mo 2OD|EMBEY
R R0 |zdEg i X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 25,900
Tl 11,100
301 EtE NS 370,000 370,000 0
= 333,000
Albl 25,900
Tl 11,100
01 AR 2EHSHS(RNEXRTH) 370,000 370,000 0
Ol & &S0 370,000,000 370,000
= 333,000
AlHI 25,900
-l 11,100
A RSO (AIE) 10,000 10,000 0
= 9,000
AltI 1,000
301 EtE NS 10,000 10,000 0
= 9,000
Albl 1,000
01 Al EE A2 (2RNEXMR) 10,000 10,000 0
Ot AHE MBS (A ) 10,000,000& 10,000
= 9,000
Alt] 1,000
SA2elZLAH 42,376 42,376 0
201 et 3| 40,168 40,168
01 At22t2l] 3,064 3,064
OAtell S4i9 EXj2te| A2 235
300, 0002 *90% 270
O=XNE 22 - us I M
2,000, 0002 *90% 1,800
O%dz 72 A=E S A
94,000 A
OJzdg=git EE22MUE M
452%10,000&+22] 900
2 35234l 37,104 37,104 0
OHYLEE Sl A
46,0003 #2CH+ 123 1,104
OtUE & SXIN 285 RES
3,000,000~ 128 36,000
203 g4l 360 360
03 A=A 2= 360 360
O=X2el ge=d 400,000 90 360
301 EtE NS 1,848 1,848
0 AR=R224s 1,848 1,848
OARRIS Al AtS2o3 SAHI
7,000 x1H+22x 122 1,848




SN MESI
B 20D\ EMBIE
ohel: RODIZMELIT XL (cre:xigl)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Q220 Z2IAHOIZHA) I 64,224 8,662 55,562
= 38,975
Albl 9,744
- 15,505
101 e124d| 64,224 8,662 55,562
= 38,975
AltI 9,744
-l 15,505
04 JIZtN2Z2 XS 2 64,224 8,662 55,562
OS¢ IAF QI24HI(2H) 64,224
JlEg, AAedsE, 288 S
48,719,000 48,719
= 38,975
Altl 9,744
Sci=4bl 9,957
“HEFOH| 2,237,820 * 1 x22] x50% 2,238
S 2,237,820 x 18 #42] *40% 3,581
PN I= ) S
113,780 x 12 x 10 1,138
-2 125,000 x1&* 122 1,500
—uwSH| 125,000& x 12+ 123 1,500
SelZMHI(He=) 5,548
-EE=0Hl 2,237,820 * 18+ 12| %50% 1,119
-J|g==E 2,237,820 x 1 *23| x40% 1,791
—AX=ER g
13,7803 x 12+ 10 1,138
=4I 125,000~ 1 +6E 750
-uwSH| 125,000~ 1 +6E 750
AS2AAHE K& 386,500 378,200 8,300
AltI 366,500
Tl 20,000
NAS0 SEXE 336,500 336,500 0
AlHI 336,500
301 LtENZ 336,500 336,500 0
AlHI 336,500
01 Al 2E AL S(FRNEXME) 336,500 336,500 0
O=21 & Ma?AHE SSUH XA
65,000,000 65,000
Albl 65,000
O=git & HaAAHS ANHuSH X
271,500,000 271,500
Alt] 271,500
LA AMZA Mel 20,000 11,700 8,300
201 =3 20,000 11,700 8,300




SN MBS
H2: ROD|ZMBEY
oS IAAAHS KA
SA BB SR(BH) - NSAY - B 0l A
01 A22teld| 20,000 11,700
OR9 1 AldlHel S22
2,000,000& *23 4,000
OSAIANLT HHHel Chl
800,000& *20H 16,000
2o JIxZBEME 30,000 30,000
AlBI 30,000
301 LEtENZ 30,000 30,000
AlHI 30,000
03 AISIB &GS (XY ) 30,000 30,000
Oz HMH =X I 30,000,000 30,000
AlHI 30,000
FAHE =HKIA 15,994,071 15,994,071
= 14,3%4,664
AlHI 1,119,585
4| 479,822
=H=20 15,994,071 15,994,071
= 14,394,664
AlHI 1,119,585
=4l 479,822
301 LEtENZ 14,331,743 14,331,743
= 12,898,569
AlHI 1,003,222
| 429,952
01 Al BEE 42 (2DEZE) 14,331,743 14,331,743
OFH=2: 14,331,743,000& 14,331,743
= 12,898,569
Albl 1,003,222
sl 429,952
403 REXISHHS K201 1,662,328 1,662,328
= 1,496,095
AlBI 116,363
sl 49,870
2 S 2ASHCHSRHE2E I EAISHI 1,662,328 1,662,328
OxERX=0H 1,662,328,000& 1,662,328
= 1,496,095
Albl 116,363
sl 49,870
=0l 25 ¢ X& 255,556 255,556
= 230,000
Altl 25,556
=00 AMEE2Y 25 255,556 255,556
= 230,000
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FA S22
B WEHSHAH| (MEERD)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 35,418
IS AACIAN(SRA) X 167,684 38,804 128,880
[ 105,813
AlHI 26,453
Tl 35,418
101 @124H| 142,899 38,804 104,095
= 85,985
Alt] 21,4%6
Tl 35,418
03 SR (RINHA) 222+ 142,899 38,804 104,095
OABTOIBRIAL 0124H] (421) 142,899
=2, Altelag S
107,481,000& 107,481
[ 85,985
AlHI 21,496
Sc|:MH1(3%) 29,870
-EE=0Hl 2,237,820 x3E +22] 5% 6,714
A S 2,237,820 x3E *43| x40% 10,742
AR RBENLY
113,7802 38 » 10! 3,414
=AMl 125,000& x32~ 123 4,500
- &SH| 125,000 x3&« 123 4,500
seledd(1g) 5,548
-SE S0l 2,237,820 x 1 *13| %50% 1,119
g 2,237,820 x1H*23| x40% 1,791
X RBENSY
13,7803 x1& =10 1,138
-2 125,0003 18 +63 750
pani=tsl 1250002 18 +63 750
WM HASFESS 24,785 0 24,785
[ 19,828
AltI 4,957
4 BRA(RIHA)22N BEERES S 24,785 0 24,785
OclZZoiRelA BEERSE S 24,785
At 28 JI2RY= 15,828,000 15,828
= 12,662
AlH] 3,166
EXs0EEs 8,957,000& 8,957
[ 7,166
AlHI 1,791




